









# Amir Cup 2025, Doha – Qatar

## Format & Rules

<b>Tournament Official Website</b>	
Official Website	www.qatarbowlingfederation.com

Tournament Information	
The Tournament is open for	Bowlers from IBF Member Federation
Tournament Organizer	Qatar Bowling Federation
Center	Qatar Bowling Center
City	Doha
Date of Tournament	29 October - 08 November 2025

Tournament Delimi	tations	
Category	Open	
Event	Singles Mixed	

Tournament director		
Director	Mr. Saed Al Hajri	
Mobile No *	+974 55555066	
Email	gatarbowlingfederation@gmail.com	
Technical Committee Director	Mr. Abdulla Haroon	
Mobile No .	+974 55766777	

Bowling Center Address			
Physical Address	Qatar Bowling Center		
	Near Mannai Signals, Doha Qatar		
	P.O. Box 20305		
Phone	+974 4432 9178		
Email	qatarbowlingcenter@gmail.com		
Website	www.qatarbowlingcenter.com		











#### **Tournament Format**

Qualification 9 games qualification (3 games every squad). Qualification is unlimited Desperado squad 1 game

#### Qualification to the Top 40 Round:

Top 32 players from the preliminary round.

Top 2 players from the first two days.

Top 2 Qatari youth players.

Top 2 players registered in the Qatar Bowling Federation.

Top 2 players from the Desperado Squad.

#### Final step 1

Players ranked 1 to 8 advances directly to the step 2.

Players ranked 9 to 40 play 8 games in one day, and the top 16 qualify to the step 2.

#### Final Step 2

A total of 24 players (8 players + 16 players from step 1) play 8 games.

The top 5 players qualify for the step 3.

#### Final Step 3

Pos 3, 4, 5 will play one game.

Pos 1 from step 2 will advance to final step 5

Pos 2 from step 2 will advance to final step 4

#### Final Step 4

Pos 2 VS winner from step 3 One Game.

#### Final Step 5

Pos 1 VS Winner from step 4 One Game.

#### Youth semifinal and final.

Open to all youth players aged 21 or under.

Top 3 youth players form the Qualification based on total points qualify for the semifinal and final.

Pos 2, 3 will play one game.

Pos 1 VS winner form semifinal One Game.

#### Tournament tie rules

#### Qualification

The highest Squad total of 3 games will advance to final step 1.

#### Desperado & Finals.

In case of a tie in a match, a one ball rolls off on a full set of pins will be played, repeated until the tie is broken.











Lane assignments		
Lane draws	By the organizers	

Prize money expressed in USD			
Position	Prize Amount		
1st Place	\$25,000		
2nd Place	\$16,000		
3rd Place	\$12,000		
4th Place	\$8,000		
5th Place	\$6,000		
6th to 8th	\$3,000 x 3 = \$9,000		
9th to 12th	\$2,000 x 4 = \$8,000		
13th to 16th	\$1,500 x 4 = \$6,000		
17th to 24th	\$1,000 x 8 = \$8,000		
25th to 40th	\$800 x 16 = \$12,800		
Daily highest series 9 Days	\$200 x 9 = \$1,800		

Total Prize Money: \$112,600

# Youth Championship Prizes (USD):

Position	Prize	
1st Place	\$2,000	
2nd Place	\$1,500	
3rd Place	\$1,000	

Total Youth Prize Pool: \$4,500











	Qualification squads and fees in USD						
Squad	Day	Date	Time	Oil Pattern	Spots	E fee	Re fee
Squad 1			16:00	Fresh	60		
Squad 2	Wednesday	29 October 2025	17:30		60	120	70
Squad 3	vveullesuay	29 October 2025	19:00	Fresh	60	120	/0
Squad 4			20:30		60		
Squad 5			16:00	Fresh	60		
Squad 6			17:30		60		
Squad 7	Thursday	30 October 2025	19:00	Fresh	60	120	70
Squad 8			20:30		60		
Squad 9			22:00		60		
Squad 10			16:00	Fresh	60		
Squad 11		24.0	17:30	00 (110000000001	60		
Squad 12	Friday	31 October 2025	19:00	Fresh	60	120	70
Squad 13			20:30	8 67-38	60		
Squad 14			16:00	Fresh	60		
Squad 15		Vo. 200045 NE Record (10008) AV	17:30		60	5000 A 5000 A	V.C. (2007)
Squad 16	Saturday	1 November 2025	19:00	Fresh	60	120	70
Squad 17			20:30		60		
Squad 18			16:00	Fresh	60		
Squad 19			17:30	110311	60		
Squad 20	Sunday	2 November 2025	19:00	Fresh	60	120	70
Squad 21			20:30	riesii	60		
Squad 22			15:00	Fresh	60		
Squad 23			16:30	116311	60		
Squad 24	Monday	3 November 2025	19:00	Fresh	60	120	70
Squad 25			20:30	i iesii	60		
Squad 26			15:00	Fresh	60		
Squad 27			16:30	riesii	60		
Squad 28	Tuesday	4 November 2025	19:00	Fresh	60	120	70
Squad 29			20:30	riesii	60		
Squad 30				Fresh			
			15:00	rresn	60		
Squad 31	Wodnasda	E November 2025	16:30	Erech	60	120	70
Squad 32	Wednesday	5 November 2025	19:00	Fresh	60	120	70
Squad 33	Λ.		20:30		60		
Squad 34			22:00	F	60		
Squad 35			15:00	Fresh	60		70
Squad 36			16:30		60		\$2.500m
Squad 37	Thursday	6 November 2025	19:00	Fresh	60	120	
Squad 38			20:30		60	11-15-15-1	
Squad 39			22:00		60		80
Desperado							

Note: The Organizing committee has the right to change squad's time.

Athletes must play 4 tries to be able to register in desperado.











## Schedule for the final steps

### Friday 07 November 2025.

14:00 Youth Semifinals one game.

14:30 Youth finals one game.

17:00 - 20: 00 Final step 1 total 8 games.

### Saturday 08 November 2025.

15:00 - 18:00 Final step 2

18:00 - 18:30 Break and lane maintenance

18:30 - 19:00 Final Step 3

19:00 - 19:30 Final Step 4

19:30 - 20:00 Final Step 5

20:15 Award Ceremony

<b>Booking Policies</b>	
Booking limit before	Maximum of 3 squads can be pre-booked via our official website
Booking cancellation	Possible. But pre-paid entries will not be refunded.
Registration deadline online	November 02, 2025.
Actual registration deadline	30 minutes before the scheduled squad.

Note: Please follow the International Bowling Federation rules.

Bandar Mubarak Al Shafi

Secretary General

Qatar Bowling Federation

